ZEPRR

PRPNLC24AKIT

Presrv™ Solid Panel Ready Door Kit, Compact

17.Screw, M4*12
1. Solid Panel Ready Door

——
/" 18. Lower Hinge, Right
@ 2. Upper Hinge Connecting Plate, Right

19. Lower Hinge, Left
V% 3. Connecting Plate Screws, M4*12

@ 4. Lower Hinge Connecting Plate, Right

Y% 5. Connecting Plate Screws, M4*12

20. Lower Hinge Screw, M5*12

@ 21. Upper Hinge Connecting Plate, Left
6. Door Gasket % 22. Lower Hinge Connecting Plate, Left
% 7. Door Magnet 33 23. Connecting Plate Screws, M4*12
8. Door Magnet Bracket
v %y 9. Screw, ST3*8 b g 24. Upper Hinge Top Screw
% 10. Door Lock Plate @ 25. Door Axis Plate
w) &) 11. Screw, M4*8 w® % 26. Door Axis Plate Screw

27-1. Kick Plate

%%%%% 12. Self Tapping Screws, ST4*30

27-2. Door Switch
g g 13. Door Handle Screw, M4*40

@ @ 14.Washer (4.3ID, 80OD) 1
io 27-3. Door Lock

15. Upper Hinge, Left

YYYYY 28. Kick Plate Screws, ST4*8

16. Upper Hinge, Right




ZEPH'R

PRPNLC24AKIT

Ref # Part #

1 50230044
2 54190080
3 01020026
4 54190081
5 01020026
6 56220061
7 54220011
8 54140366
9 01020044
10 54050095
11 01020097
12 01020055
13 01020054
14 02170014
15 54180039
16 54180036
17 01020026
18 54180037
19 54180038
20 01020052
21 54190065
22 54190066
23 01020026
24 01020042
25 54190079
26 01020082
27-1 50260019
27-2 11040033

Presrv™

Description

Solid Panel Ready Door

Upper Hinge Connecting Plate, Right
Connecting Plate Screw, M4*12
Lower Hinge Connecting Plate, Right
Connecting Plate Screw, M4*12
Door Gasket

Door Magnet

Door Magnet Bracket

Door Magnet Screw, ST3*8

Door Lock Plate

Door Lock Plate Screw, M4*8

Self Tapping Screws, ST4*30

Door Handle Screw, M4*40

Washer, (4.3ID, 80D)

Upper Hinge, Left

Upper Hinge, Right

Upper Hinge Screw, M4*12

Lower Hinge, Right

Lower Hinge, Left

Lower Hinge Screw, M5*12

Upper Left Hinge Connecting Plate
Lower Left Hinge Connecting Plate
Hinge Connecting Plate Screw, M4*12
Upper Hinge Top Screw

Door Axis Plate

Door Axis Plate Screw, M5*8

Kick Plate

Door Switch

Q
NI—‘NI—‘I—‘I—‘NI—‘NI—‘I—‘&"

=
o

= = N = N DN = O B 2 O = = NN



27-3
28
29
30
31
32
33
34

MAR24.0101

50180010
01020073
02170017
02170018
54140381
54140382
01020094
01020079

Door Lock

Kick Plate Screw, ST4*8
Washer, (10.5ID, 170D)
Washer, (8.5ID, 170D)
Anti Tip Bracket, Right
Anti Tip Bracket, Left
Screw, M4*12

Screw, ST4*12

N N B R R = 0=



	PRPNLC24AKIT 20231028
	xPRPNLC24AKIT
	PRPNLC24AKIT


